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Instructions for {he candidates:
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Candidates are required to give their answers in their own words as far as practicable.

ZIRH e et o 9 g7 a4 quiE Ffde @ &

2
Figures in the right hand margin indicate full marks. -
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15 Minutes of éxira time has been allotted for the candidales to read the questions carefully.

4 TEAF-UF A G HE QST T EHE~F |
This question paper is divided intg two sections - Section - A and Section -B. -

5. s —q ¥ 50 TGAT FEE T T A 8] (7% @ I 1 9% ARG &), §TeT ST
Juear #vd T OMRS STV Uaw § R4 T4 e gu @ @6/ Aot @i 97 W W/
[l ot WHR @ BT /TN TaR/ &S,/ TG SR FT ST GRawr 4§ FArT HYA FA
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' In Section - A, there are 50 objective type questions which are compulsory, each carrying 1 mark. Darken
the circle with blue/black ball pen against the correct option on OMR Answer Sheet provided to you.

- Do nol use wm‘:anerquufd/Blade/NaH elc. on OMR Sheet; otherwise the result will be invalld.

6. BT - 74 25 @Y TO0T FeT & (70w @ R 2 o Frifa &) R @ @ 15 e #r
ame 27 IR 2 577 IR, 3w @vg ¥ ¢ o Sud g 33 14 € (1w @ forg 5 3F
PR &) ford & feft ¢ wreat @7 oov 37 81 '

In Section - B, there are 25 short answer type questions (each carrying 2 marks), out of which any 1 5
questions are to be answered. Apart from this, there are 8 Long Answer Type queslions (Each Carrying §
marks).Out of which any 4 questions to be answered.

7. [ yBR @ FOgTE SUBeT T §UrT Qlaar affd &/

.Use of any electronic appliances is strictly prohibited. .
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Wog -3/ SECTION - A

IS U /Objective Type Questions
o7 SR 1 ¥ 50 7% @ 4w 4eT 3 W R Rewy Ry v & frd o ve wal &/ o & g

TV Wl Reey #t OMR - ¥ie ¥ Rifea av/ | (sox1=50)
Question No. I to 50 have four options, out of which only ane is correct, You have to mark, your selected
option, on the OMR - Sheet. : o (50x1=50)

L B o fgem wiiesor 7 27

Which of the following is not 2 quadratic equation?

_f_l\{ (x+2P=x(x2 1) B)  (x+1)=2x-3)

. . / - . _q i _
) ™x-2)(x+2) {D)- 2 +-—2
IO G X + 2y +5 = OFMI -3x - 6y+1-0$’6ﬁ§-—
A) fgdw e - W), IR

N(C- LR D) F A
Pair of equations x + 2y + 5=0and -3x - 6y + 1 =0 have-

| (A) Unique solution @ (B) Infinite solution
(C)  No solution Q\\ (D)  Noneof lhese{

)
3. feum@ agwe «2- 2%@%?—

Zeros of the quadrﬁc polyniomial x*- 2 are -

A 2,2 B i
O 2 | @ -2,-2
4/ HHIRR A0 : 2, 6, 10, 14,............ BT B G IS 82 é?
&) 1 ® 0
© ord | D) 22
Which term of the AP : 2,6, 10, 14, .......... is 822
W 13 B 0%
© 2. O 2
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5. /P(4.2)smQ(s.ﬁ)aﬁfﬁm#alaﬁ~§?§m$mnfaﬁ$ﬁwmﬁé-

The coordinates of the midpoint of thie Jine segment joining the points P(-4, 2) and Q(8 6) are-

W G ® (1.3

< @9 ™ 2
6. maﬁvrmwmmﬁ:ﬁ%ﬁﬁwmﬁqwﬁrﬁmmm%aﬁ
ﬂ?}wwm%— -

A) 359 B) 143794 |
€  2®74TA @) ¥ W FE

From a solid cube of edge 14 cm, a sphere of largest volume is cut. Appfm_cimate volume of sphere

is - \

(A) ~ 359 cm? . - ®) 1;137 of
g - 2874em’ (D)}~ Noneof these
p(x)=x"=3x -4 , T p(x) F1 [F s & -

If p(x) =x*-3x -4 , then one of the zeros of p{ﬁs‘ -
4

A) 2 )
€ 0. Dy 3
P Hﬁ:amﬂﬁwﬁﬁmwmﬂmﬁmsﬁwwﬁmmm

I the ratio of areas of two similar triangles is 64 121 then the ratio of their correspondmg sides

is -

s 8l @) 8:12

© 12:14 @  11:8
9. cos(90%-A) = |

A) - cotA ‘ (B),. sinA

© tnA @) secA
1! 0]C : Page 3 of 16
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Iﬂ\mapﬁ“nqtamm t_fﬁm““ g’_

(A) 2 (B) 0
() 1 U1 2 \@ 1

If p and q arc two prime numbers. then their HCF is -
Ay 2 (B) 0
' (C) Either 1 or 2 (D) |

11.°.38.5 3 &wer T g0 A o @ -

A)  7TER (B) 3.5 ¥

(€  105%. @ T P T
The radius of a circle with area 38.5 cm? is -

(A) 7cm (B) 35cm

-(C-) 10.5 cm (D) None of these

Q
12.. €os1° ¢os2° %@ c0s90° =

%& (B) ]
A |
c -l \ M V2

13. 515 3k 20 @ . W AR A W BT I § —

The ratio between the LCM and HCF of 5, 15 and 20 s -

A 9:1 (B) 4\3~
© 11:1 (D) d2:1
Paga 4 of 16
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% -'-‘-'r,,‘ Jﬁ,’r il 1:"'
W oE Y g a8 s R W R f:!t"'ﬂ &, WAl f |

b 1y
N s (B)

‘ g 1 w3 A
(€)  (A) 3R (B) Tl gy T EE

A linc which interseets a circle al two distinel points Is known as -

(A) Chord ( H’.‘ Tangent

{Ci Both (A) and (B) (D) None of these ’
15, ﬂfé Rrara THE bx? +ax + c=0 B qer GAM &, A —

If roots of the quadratic equation .bxz + ux + ¢.= () are equal, then -

WAy bl-dac=0 (B)  a’{dac=0

(C) c’-4ab=0 (D)~ a*-dbc=0
m,ﬁm@:maﬁgmmwmmw% g

The product of the smallest prime number and the smallest composite number s -

&
(A) 10 S’Q\Q (B) 6
N
c 3 & Ry 4
R\ | )
17. sin’84+ cos’@ =
a) 1 (B) 2
(©) 0 1) B

18, Prer 3 @ ¥ e e ) iR T8 & W €

Which of the fﬁllowing cannot be the probability at an event?

(A 35 .(B) 02
© 03, (D) . 60%
[A10]C Page 5l 16
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19, www 4rf) - sa, §), 98,45, AT (A E R

(B

AL 10
1y - (D) g wrg AE
The 10" termof AP 54, 514845, .08 -
(A} o (B) 30

<!
() ~ (D) None of these

20. ofy A ABC @91 PQR H ZA = £P. £B = £Q. £C= /R & -

If in two tnangles ABC and PQR. ZA = £P, ZB = £Q, £C = ZR. then -

(A)  APQR ~ACAB (B)  APQR ~ABCA
(C)  ACBA ~ APQR D) AABC-~APQR
0. R (2v3,-V2) e T 4 Rerg &
| (A) WA TE & e arg
(C) ol U : D). =gd U
In which quadrant does the point (243, —V2) lie?
(A)  1*quadrant ‘Q\Q&Q (B) 2" quadrant
‘2§ 4th
(D) 4" quadrant

(C)  3™quadrant \Q‘§
O : .
22. A FEEYT kx - 5= 2 @642y =7 B B3 &S 7, A -

If the equations kx- 5y =2 and 6x + 2y = 7 have no solutions, then-

A 'k=-10 (B) | k=-5
(C) k=-6 D, k=-15

23. afd 5cos6=3, 1 3tanf &1 AT BT-

If ScosB=3, then the value of 3tan® will be -

(A) 3 ®) 5
© 4 o 7
[110] C Page 6 of 16
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ERod
24 ﬂaﬁaﬁﬁmﬁwmﬁzsémﬂﬁmwms 3 & @ A

| €= i i '9 5+ 3, then their volumes
:ﬂd" f two cylinders are in the ratio 2+ 3 and their heights are in the ratio 5 : 3.
adii 0 ; |

are in the ratio - 0.7
7:20 /[,_(ﬁj
:?:; §~9 o 0
25. ﬁmﬁﬂmﬁﬂmﬂﬁﬁmﬁqﬁﬁﬁmﬁ?:ﬁajﬁﬁﬁm%—
| g @@ (B)
%} 3 & . © T PR T
o n the number of solutions

I the graph of two linear equatlons in two yariables is intersecting lines, the

is - _
(A) Only one (B) )
(C) [nfinite solutions - (D) . None of these o~

. % sind = cos, T B: frad TR 27

If smﬁ cosEI lhen 0 is equal to-

W 457 ’ T, (B} 300
© (D) - 60°.,

27 w5 G B Frou qen Fa HE ¢ ok h 8, @ SEA b

The radius and height of a cone are r and h respectively, then its volume is -

No solution

@ & ®
’ &6 3
o ';‘T"'zh Q\Q% (D)  wrth

28, K % +3, % +6,x+9 TAX+ 12 BT WAFR ARG ¥

The arithmetic mean of £, x + 3, x +6,x+9 and x + 12 is -

A x+6 , B) x+45

© x+7 | (D) X+8
29, RS0 dra v HErl & wew & -
" The number of odd numbers between 0 and 50 is -

@ 26 - V(B 25
© 7 O 24
[110] C | ‘PagE70f16
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) AR ey e . e L il
W, o vw gre g @ wm et e 6 S SEULILE '

8 gl \ E e (i B faht of fhe ['l"!" then thi afbgle ol
. oy gy 14 s :
W orthe Length of ihe vhawbra of @ rOHR S F

¢loy piaep o the &A1

(A} 4% (m e
i [l
it AL 1"{ fl}
" " ' Fi unrer f‘
M, e n 8 o W MR ERT D My ®

1t the mean of & 8,9, and 1338 10, then the valee of i
12 (B (R
14 (M 15

(Al
@2
0. e e O ABC #) UH gt 2a & @ E8H darg gt -

\ﬂnr of the side of an equilateral triangle is 23, then ils h-:-li.‘.lhl I8 -

(A) 3a M V3a
() 433 ) S L

—d
2

.

3] ’H

33. _:qasar.—:ﬁzaﬁaq&mm?,gﬁaﬁmﬁavﬂ?mmalmwwmfa*—a_:,
,.%H"ﬂ{ﬁ“?'? K\QQ\ -
A man goes 24 m West, a@%e goes-10.m North. Now at what distance is the man from his it

point? hle.»::-—*‘W\gé@mrtnppcr.cmn

(A) {Jm (B) 17m
T4C)  26m D) 28m

M. 24.15,22,13,9, 10 30 &1 URER EF-

Range of 24, 15, 22, 13,9, 10 and 30 will be-

A) 2 B 24
. 21
€ 9 gL

' 'TO]C Page 8 of 16
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39.

= —_—t o=t e e - — S e TR
st @ TT! & VO U@ T TRE W R MU R NE IT 9T
AR ™
S e —
____{*_ = o -] E—-
X -
5
ve iy -4 A yevn . ., | darl ofF nlsvine ~ard
{‘!:‘:' -._"FJ s drawm I8 rango ffor“] a '“e” \hhﬂlfd \,:;l. LA ? “hhis Ay
- -
..."Cd""..u" due i

=
4= 1
wm
—
|

O “% ® 3

- S N
9 T cotf T e 27

quis

Which of the following is equal to cotg?

(A sing \ cos?
cose (B) -sind

({0 JE—— !
seco (D) sin3

A) 56 | B
€ 28 wBF 27

YR a N T A G B TTR w28 TaFaes -

LCM of two numbers a and 18 is 36 and HCF is 2. then the value if -a 1s

LS ]

EVI (B)
© 4 ()

[”0] C ’ Page 9 of 16
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40,

41,

e _— o
*TE LR ‘2L IEE i

Regad A 4 A B D '

The coondmetes of the mid pont of the It aegmment int the pean
iA) ify, M (R} {1
U"’; i3 (1 R EET
. a0 (-5, :11“‘ (1. yd dfm A gl
hltl:ln(-.‘- hetween the pomts (-5, 7) and (-1 URLE
(A) V2 w2
GO w2 m 57
) . 4 27

s & W Brn R age @ gt @ A 3 A e L
In the following quadratic pnl}-numial whose sum of zeros is -3 and product 18 27
(B) 1+ 2x-3

1)) x-3x 42

(A)-— X+ W42

L W .

(Ch N -3x-2

s % 3 quRng A @v

Which of the following is not irrational?

(A) \‘T(']- ”” v’ﬁ
(C) V35 Dy 121

Wmnt&:fa‘r.ﬁ’rsina A & -

4S/Mﬁtﬁéﬁ'ﬁl3ﬂﬁ.qyﬁmﬁﬁpﬂqﬁhﬁﬂéwﬁ%@ﬁﬁm12?‘%‘.‘1.5,

3 .
If tanB = T then the valugg{@us -

&
‘6% (B)

z
e
P
(m%

(A)

(€)

W] m']...p;

—_— =t
a] ST
)

%1 faear &

The length of a tangent from a point P at a distance 13cm from the centre of a circle is 12 cm. then

the radius of the circle is-

(A) 6cm B 12cm
(C) 9cm (D) 5cm
10] C . Page 10 of 16
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6, DR D wE N p A Qe Wl PA e PR ad # ufa pA =4 af, @ PR

FE O
) 1 M) 12 A, 4
) a3 D)y 4l
PA and PB arc two tangents drawn from an external point P to a circle, If PA =4 ¢m then the length
of PB s -
(A) 16 cm (B) 12 cm
() Som (D) 4 cm
-1\7?%"?‘ p-6. ) A W FF fag A -
(A) 8 IR @Q 27 5o
() 6 g o 0w
Distance of the point P(-6, 8) from the originis .
(A) 3 umts (B) zﬁ units
(Cy  Gunits (D) 10 units

8. 1an’60° FT A 8 —
Value of tan"60° is-

(A) 1 By 3

1

© NS
9. T eED Y %ﬁi W
For an event E, wh1@uc following is correct?
(A)  PE)>I B) PE)<O
@ PE=1 ' @  PE)=-I

0. af A B..C fodl Pre & ?IﬁUT @, o sin (Bzi) R -

If A, B. C are angles o7 a triangle, then sin (%) is equal to -

(&) © tang h ®)  sin:
9/'::%'—3 - D) 'sec%
[110]C . ' Page 11 of 16
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Qvs —3/ SECTION - B
#y—awgfirg u¥ /Non - Objective Type Questions

@Y STRI9 7 / Short Answer Type Questions
yeT wEr 1 #2563%?{%!5”#5%??/%?@723@%

&/ . (15x2=30)
Question Na l to 25 are short answer type Auswer any 15 guestion. I'ach queﬂmn carries
2 marks. (15x2=30)
24T Y e ¥
Convert 2.47 in the form of E.
2, ERY FET 2x+y=5 IR 3x+2y=8 B 79 T AR A g AW 2,
Solve the system of equations 2x + y =5 and 3x + 2y =8 by cross-multiplication method.
3. AR AW o AR R saf 03 15 AR ok sl weY @ 4 a4 B &
Dctcrrmn_e the AP whose 5" term is'15 and.the sum of its-3™ and 8™ terms fx134. |
& R G BT W R GBI 12 3x -00 = 0% Fo PR - )
Using quadratic formula find the solutions of the equation x* - 3x - IO_J 0..
5 R afss5-y3 tamigene] 2/
Prove that 5 - V3- is an ircétional number
6. xﬂawwﬁﬁﬁﬁmﬁﬁﬂﬁﬁaﬁ(76)m(34#m%1 ,W

Find a point on x-axis which is equidistant from the points (7, 6) and (- 3 4).

7, w%ﬁﬁABcﬁwmcm% q%ammﬁcmﬂvcauﬁmﬁqnaﬁm a.r—-

Rerm & | g TR =
, AE?+ BD?= AB?+ DE?
Ina AABC whose £C is right angled, two pomls D and E are on sides CA and CB respectively.

Prove that -
AE?+ BD?= AB*+ DE?

i’/zrﬁ!tane—- g in82eosd o oy @,

3sin8 - 2cosh
3sin® + 2cosh

If tan6 = =, then find the value of T

L o

‘ 10] C Page 12 of 16
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294 0 gt vi 9 S 20 A, ol I T B 21 30, R, A S agrrer ) F 2

| _
“alculate the volume of a right circular con¢’ whose height is 28cm and radius of the base is

21em. L
1 (U @1 e g ) afe R (xa ), (1,2) @11 (7,0) et € _aj)_

Establish a relation between x and y if the [)(Jin!S (X, ¥). (1,2) and (7, 0) are collinear.
{12 S el G H, . 145 qor ST . 9. 2175 BRI v e 725 2, o gol W s 'dfl

|
The HCF of two numbers is-145 and their LCM is 2]75 If one number is 725, lhen find the’

other number.

ﬂemﬁm@mﬂq@qﬁu? 4x+l?F’161'E’fEI‘[ + = 31 7 Jid

Y J i’
If o, B are the zeros, of the quadratic polynomial 4x 4x + 1, then find the value of — : 2y E

_(ﬁ.L

a’

“13. R ABCH gmﬁ-.m am AC q‘x’a’rﬁi D 9iR-E 47 39 ¥aR & f DEIBC. af- I{)
AD=x,DB=x-2, AE=x+2T EC=x-1, @ x & 97 el | -

In AABC, D and E are points on@e sides.AB and AC respectively such that DEIBC. If
AD:x,DB:x-Z,AE-:H% \dEC X - 1, then find the value of x. _
14 ey - $§% ' @)

"V/
Prove that — @

3]

secB +tan _ (:l-l'-sinﬁ)2
secB-tan@ - L cosB

15. ﬁsﬁ‘rﬁgma%a’whé(s SR (7,4 %1 IR T dwE # Faww @,-DE AR @)

Two vertu,es ofa lr:angle are (3, -5)and (- 7 4) Ifits centroid is (2, -1 )sthen find its third vertex. |

kY

.ﬁfﬁﬁwwﬁﬁwmmﬁmwmsmqﬁ(ﬁml (2)

Using Buclid’s division algorithm, find the HCF of 570,and1425.

S 1 s P R @ 1 494 @

Find the surface area of a sphere whose diameter is 14 cm.
C
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o7 P Y R @
Evaluate the fullowing -

Ssind W ¢ coedas ¢ dtanise’ \
23N (nsn’ + tands’

19, AABC ' ARG G & R AB = AC. PR @ 37 0% 98 w0 pon Wt T ¢ @)
f5 ar 4 AB ® EWR, BCH DR il AC $ F W vt vl & Reand i D £ BC
& fig )
MBC is an isnsceles triangle in which AB=AC. A circle is drawn inside the mangle such that
it touches AB at E. BC at D and AC at F. Show that D is the mid-point of BC.

‘Qﬂa‘-ﬂwﬁ‘laﬂmmﬁﬂﬁsﬂﬂﬂqﬁﬁuﬁﬂ (2)
Find the arca of a quadrant of a Gircie if its circumference is 44cm. '
Gl B F IR e A 2, & R T A JR B AREe e w) (2)

T‘\m dice are thrown together, then find the pmbnblltty of getting same digit on both dice.

,affﬁwﬁdﬁamawga(mﬁ— | Ry

T 3w | 0-10 [110-20 | 20-30 | 3040 | 40-50

i

a1 8 | 121 6 |-15 | 7

Find the mode of the following distribution -
Ci?ss interval | 0-10 | 10-20 | 20-30 | 30-40 | .40-50

Frequency 8 12 ! 6 15 7

€

TR | 100] 20| 14 | ® | 18 | 22

Find the mean of the following distribution - _
Classinterval |.0-8 | 8-16 [ 1624 | 24-32 | 32-40 | 40-43 ‘
quumcy 0 {4 2 4 16 18 2 ,

uﬁdmmmmmﬁtﬁamtaﬁmmﬁwﬁi )

product of two consecutive natural numbers is 20, then find the numbers.
€ 2 Forl 1 70 TR 90T I | TR @ W AR A ARG IR A @)
Two coins aredossed together. Find the probability of getting at least one head.

-

Wmﬂwamﬁ- o "__(;y
=l [t oo | 087 [C8016. 1624 | 24:32 |-3240 | 4048 |

“Phge 14 of 16
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¥ Swd uw/Long Answer Type Questlons

“"""F-“-H#nM#mmffmcﬁimmdMJJ?wﬂwﬁh!/
(4xs=20)

T4 5= & v 4
y ' . Answer any

Question Noc. 26 to 13 are fong Answer Thpe Questions, Each question carries S marks, Answer «

o (Ix$=20)

questions, !
2&.,?-“:“?,#?- N+dv=1T? a*:nj\-:}wmummd‘n‘l&ﬁ\'#ﬂ‘m .
N+ dv=17and - 2y=06and solve them.

Draw the graph of parr of cqu.itims
e @ O SR T W A T Q) & g S ()

. )
7. (T SNES ¥

@mmémﬁ%m%mmmwmmwmﬁ

iohts are standing opposite to each other on cither side of the road, which

. 0m wide. From a polit between them on the road; the angles of elevation of the top of the
s . |

tively. Find the height of the poles and the distance qf the point

' $
from the pole. g\@

m&aﬂﬁaﬁw@%qnﬂﬁﬂéwmﬂﬁmwﬁﬁ( )

angents drawn from an external point to a circle are equ: al.

s 30° res
,rxuicsmﬁﬂ and 30° res

I_-ll
n
'h-‘l

Prove that the len‘%nh

rmrmwﬁmﬁf@.aﬁzﬁmmﬁ%mﬁwmsﬁﬁ/mm &

L/ ﬁnfﬁ”ﬁ‘mﬁ1ﬁaﬂﬂw@?ﬁlm@ﬂ%ﬂﬁﬁfﬁﬁl

4 train travels 360km at a-uniform speed. If the speed had been § km/h more, it ‘would have

ta;:en ] hour less for the same journey. Find the speed of the train.

——

110)C Page 15 of 16

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

. Wi an [ :
A5r
Prove that
(SInA + cosecA) 4 (cosA 4 seeA) =T+ an’A + cot’A
.Il/f. G4 Qo v ga @) g il end) g Sl pQ 21 P afiv Q gv v yoqrd TR 0T (5)
fQsg T ue gRyady awel) & re @ ey S an |
PQ s a clhnr:f of length 8 cm ol a circl‘c of radius 5 cm. The tangents dipand intersect at a
pomt T. Al-'jnd the length of TP.

32 6 Mew AR ol 1.5 Aex med @ AR T GET 10 M/a‘aﬁ o O a8 @ §1 30 AT (5)
3 g T fad Aawa @) Riad ax oh, wafs Riag @& R s i R gl @
el gl 1
Water n flowing with a speed of 10 km/hour in a canal 6 m wide and’1.5 m'.dcep. How much

arca wilf it irrigulc‘fn 30 minutes, if 8 cm of standing water is needed for irrigation?
33. 3%%Wﬁ$ﬁ14ﬁﬂﬁﬂﬁﬁﬂ$@ﬁm?1mmE€ﬁﬁﬁﬁ (5)

@ AR I 4 %www@wmawwﬁmwwwm

Twwbrwwaﬂ@aﬁam

%
" A well of diameter 3 m% dug 14 m deep. The earth taken out of it has beén spread evenly all

around it in the shape of a circular ring of width 4 m to from an embankment. Find the height

of the embankment.
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